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WEST BENGAL STATE UNIVERSITY
B.A. Honours Part-I1I Examination, 2019

SANSKRIT
PAPER-SANA-VII
Time Allotted: 4 Hours Full Marks: 100

_ The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

UNIT-I
(Full Marks-60)

1 JERTATT g4l YHATONR UQaHq — 13x2 =26
(a) f& qracaHFIAETTR ? AR YR AT e | 2+8+3=13
(b) BRUTET [adiped deroNarsRomal HRUMAT: Ufdreri | 4+9 =13
(c) f araq TrsawHoH ? AIRhUE: BAAE Jadifa fawrerany | 5+8 =13

(d) qduafRIRUYdS T9: MANHHITIRE FiISTIdH |

2. seifaRedy gl us qEEEr — 12x2 =24
(a) ey FTAga A de: yeeig — 6x2 =12
(i) Ff: Srpaea |
(i) Hera fawiue |

(iii) daeary foreT saaafnRfe foga |
(iv) FART: gHARIE |
(b) 3ENAY WHHd gSRhgd AR — 6x2 =12
(i) 3 fe: AI=: UFTHIA: |
(i1) SATIRYT HROT HROM |
(iii) T3 TEET gie |
(iv) SITTErBROTHIHT |
(c) srEnforfady gal: scamEAwY Sy — 6x2 =12
(i) T WU g |
(ii) &er e sriErd |
(iii) PHE Gy g=TCEnd |
(iv) 3/ ST fAEmagnd |
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3. Ay g ST o — 5%x2=10
() = |
(i) & |
(ii1) faes: |
(iv) SUATH |

UNIT-I1
(Full Marks-40)

4. Answer any one of the following: 12x1 =12

(a) Give a critical exposition of the Jaina doctrine of Syadavada. What effect does
this doctrine have on Jaina philosophy?

(b) Discuss the Sankhya theory of purusa and prakrti.

(¢) Elucidate the essence of Brahman according to Advaita vedanta philosophy.

5. Write short notes on any #we of the following: 6x2=12
(a) STFTREGA |
(b) IreTfFHHR: |
(c) 3rgd: |
(d) R |

6. Answer any eight of the following questions: 2x8=16
(a) Who was the founder of a9 Philosophy?
(b) Who wrote =ITIHZRI?
(¢) To which system of philosophy does Hq@RIdT& belong?
(d) What are 3Rs in Jaina philosophy?
(¢) Who was the author of IITarxia?
(f) Who is the founder of fafdrergdarg? What is the name of his book?

(g) Name the four schools of Buddhist philosophy.
(h) Name the two schools of Mimamsa philosophy.

(i) aaaaIs is accepted by :

(j)) What are the four 3{Jg8s of d&T<i?
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